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Volume concreto: (1,50+3,505+8,99)x0,30x0,14= 0,598m?
Area Forma: (1,50+3,505+8,99)x0,3x2+(7,12x0,14) = 10,356m?
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Volume concreto: (2,02+3,09)x0,30x0,14= 0,231m?
Area Forma: (2,02+3,09)x0,3x2+(5,11x0,14) = 3,781m?
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Volume concreto: 2,021x0,30x0,14= 0,085m?
Area Forma: (2,02x0,3x2)+(2,02x0,14) = 1,495m?
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Volume concreto: (3,51+3,61)x0,30x0,14= 0,299m?
Area Forma: (3,51+3,61)x0,3x2+(7,12x0,14) = 5,269m?
(C-25)=2.76 m?
Area de forma = 43,07 m?
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Volume concreto: (1,32+4,05)x0,30x0,14= 0,225m?
Area Forma: (1,32+4,05)x0,3x2+(5,37x0,14) = 3,974m?
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Volume concreto: (2,02+3,19)x0,30x0,14= 0,219m?
Area Forma: (2,02+3,19)x0,3x2+(5,21x0,14) = 3,855m?2
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Volume concreto: 3,94x0,30x0,37= 0,437m?
Area Forma: (3,94x0,3x2)+(3,94x0,37) = 3,822m?
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AREA DO TERRENO ORIGINAL:
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